GRYNACHE SRR 2

B AN 22 B s
P

. TR
Hx2—8x+2‘ —x2} =2z + 2.

fRE x €{0;1;2;5}.
et TR A %” <z< 67” HI T A1
cos7x — \/gsin Tr = —\/5.

357 53w 597
B . T _ =7 _ 7
E 84T st T

c HL AR S CAT B R A, BB BS20 T oK . R AL TARMCZ R, B
MANISTORAH GB, A i CEH — N, WHE A SO BOR R G . ZA
RAEREIE AT N? QRN R R AL REMITEAAES0 85 . JF Hi%ig RAT AR
TEARIE PTG B 1) R AR A ARIBIN [ =5 22—

fRZs 45 4.

- JEARER

log 543 log% logs z > 0.

R e (1;\3’/5).

C HAZABRELN ¢, —MAN o « WEABPEWNHEEEREEE, S AEE—
ANEMIL, FHIA S AR FHE .

e c
s 24ctg§ +ctg(f—95)
. RS H A BUEE 1S T 1R A

ylar +1)+ 13z —a(y+ 1) =0,
r—xy+|y+2[=0.

fRE a € (—oo; —10] U (1/2; +00).

. MR ABCDAB,C1 Dy Wil KN a, i E NiL DDy WH . &S ¢ HEAR
FHEZ BE HIEImHAR

9a?
ﬁ@,’z‘: -
= 8 .

- R TTRER T B AR

cos (% (390 — /922 + 160z + 800)) — 1.

fRE x=-31,0=-T.

2020 =H.



